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MATHEMATICS 2C
Section One:
Calculator-free
	Student Number: 
In figures
	
	
	
	
	
	
	
	



In words




Your name



Time allowed for this section
Reading time before commencing work:
five minutes                                    

Working time for this section:
fifty minutes

Materials required/recommended for this section
To be provided by the supervisor

This Question/Answer Booklet
Formula Sheet
To be provided by the candidate

Standard items: 
pens, pencils, pencil sharpener, eraser, correction fluid/tape, ruler, highlighters
Special items: 
nil
Important note to candidates

No other items may be used in this section of the examination.  It is your responsibility to ensure that you do not have any unauthorised notes or other items of a non-personal nature in the examination room.  If you have any unauthorised material with you, hand it to the supervisor before reading any further.
Structure of this paper
	Section
	Number of questions available
	Number of questions to be answered
	Working time (minutes)
	Marks available
	Percentage of exam

	Section One:

Calculator-free
	6
	6
	50
	50
	33

	Section Two:
Calculator-assumed
	12
	12
	100
	100
	67

	
	Total
	150
	100


Instructions to candidates

1. The rules for the conduct of Western Australian external examinations are detailed in the Year 12 Information Handbook 2013. Sitting this examination implies that you agree to abide by these rules.

2. Write your answers in the spaces provided in this Question/Answer Booklet. Spare pages are included at the end of this booklet. They can be used for planning your responses and/or as additional space if required to continue an answer.
· Planning: If you use the spare pages for planning, indicate this clearly at the top of the page.

· Continuing an answer: If you need to use the space to continue an answer, indicate in the original answer space where the answer is continued, i.e. give the page number. Fill in the number of the question(s) that you are continuing to answer at the top of the page.
3. Show all your working clearly. Your working should be in sufficient detail to allow your answers to be checked readily and for marks to be awarded for reasoning. Incorrect answers given without supporting reasoning cannot be allocated any marks. For any question or part question worth more than two marks, valid working or justification is required to receive full marks. If you repeat an answer to any question, ensure that you cancel the answer you do not wish to have marked.
4. It is recommended that you do not use pencil, except in diagrams.
Section One: Calculator-free
(50 Marks)
This section has six (6) questions. Answer all questions. Write your answers in the spaces provided.

Working time for this section is 50 minutes.

Question 1
(10 marks)

(a)
Round 
[image: image1.wmf].
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 to three significant figures.
(1 mark)

(b)
Write 0.000 505 in scientific form.
(1 mark)

(c)
Three events are such that P(A)
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(i)
State the least likely event.
(1 mark)

(ii)
Determine the probability of the complement of C.
(1 mark)

(d)
Find 
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(1 mark)

(e)
In an experiment, students recorded the temperature of a beaker of water as it cooled at regular 30 second intervals.


State the dependent variable in this experiment.
(1 mark)

(f)
A regular six sided die with faces numbered from one to six is thrown thirty times.

(i)
How many sixes would be predicted?
(1 mark)

(ii)
Briefly explain why the predicted number of sixes and the actual number of sixes recorded are likely to differ.
(1 mark)

(g)
Shade the region 
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 on this Venn diagram.
(1 mark)
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(h)
For a set of data, 
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. Determine 
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(1 mark)

Question 2
(10 marks)

(a)
The scores of 20 students in a test out of 15 are shown in the table.


Complete the two missing entries.
(2 marks)

	Score
	11
	12
	13
	14

	Frequency
	3
	5
	8
	

	Relative frequency
	0.15
	
	0.40
	0.20


(b)
Determine the gradient of the line 
[image: image12.wmf]234
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(2 marks)

(c)
Factorise 
[image: image13.wmf]2
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(2 marks)

(d)
Simplify 
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(2 marks)

(e)
Sketch a parabola that is concave down and has line of symmetry 
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(2 marks)
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Question 3
(8 marks)

Write the letter of the graph of each linear or quadratic function in the space provided.

	Function
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	Function
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Question 4
(7 marks)

Solve each of these equations.

(a)
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(2 marks)

(b)
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(2 marks)

(c)
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(3 marks)

Question 5
(6 marks)

Each number on the network below represents the time, in minutes, to walk between nine locations in a camp site.
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(a)
Find the length of the minimum spanning tree of the network above, clearly indicating the tree on the diagram.
(3 marks)

(b)
Use this copy of the above network to determine the quickest route to walk from A to J and how long this walk will take. To obtain full marks, numbers must be added to the network to show that a systematic method has been used.
(3 marks)
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Question 6
(9 marks)

(a)
State the coordinates of the 
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-intercept of the graph of 
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(1 mark)

(b)
Write down the equation of the line of symmetry of the graph of 
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(2 marks)

(c)
Determine the coordinates of the turning point of the graph of
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(2 marks)

(d)
Carefully sketch the graph of 
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 on these axes.
(4 marks)
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END OF QUESTIONS


_1424862433.unknown

_1424866903.unknown

_1424866959.unknown

_1424867546.unknown

_1424869034.bin

_1425710715.unknown

_1424868137.unknown

_1424866971.unknown

_1424867037.bin

_1424866931.unknown

_1424866945.unknown

_1424866920.unknown

_1424864294.unknown

_1424866878.unknown

_1424866894.unknown

_1424865015.unknown

_1424865401.unknown

_1424864706.unknown

_1424864972.bin

_1424863382.unknown

_1424864195.unknown

_1424862713.unknown

_1424863134.unknown

_1424860954.unknown

_1424861951.unknown

_1424862315.unknown

_1424860985.bin

_1424859879.unknown

_1424860317.unknown

_1424860323.unknown

_1424860336.unknown

_1424859914.unknown

_1424419952.bin

_1424859843.unknown

_1342517750.unknown

